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Data Sufficiency ALY 50‘25’;,)93

Note: In questions numbered 1 to 20, a question 1s followed by data mn the form of two
statements labeled as I and IT. You have to decide whether the data given m the statements
i suffictent to answer the questions. Usmg the data make an appropriate choice from (1)
to (4) as per the following guidelmes:

a) Mark choice (1) if the statement [ alone 1s sufficient to answer the question
b) Mark choice (2) if the statement I alone 1s suffictent to answer the question

¢) Mark choice (3) if the statement [ and IT together are suffictent to answer the
question but neither statement alone 1s suffictent

d) Mark choice (4) if the statement [ and IT together are not suffictent to answer the
question and additional data 1s required.
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Sub questions

Question Number : 1 Question Id : 3350524202 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



In which year was Rahul born”
I)  Rahuls 25 years younger to his mother.
II)  Rahul's brother, who was born 1 1964, 1s 35 years younger to his mother.

TS 2 Soisd B’ EROT?
) il 6 99 4 Scin® 25 Sosdtive D9TE:
II) 19646° eaﬁléoﬁc’o s FEhG, 835 89 ﬁm"’& 35 a’aoéégtﬁoﬁm ﬂé&mﬁc.

Options :

1
1. %

2
2. %

3
3.¢

4
4, ®

Question Number : 2 Question Id : 3350524203 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Who among P, Q, T, V and M 1s exactly m the middle when they are amanged m
ascending order of thetr heights?

)  Vistaller than Q but shorter than M.

)  Tistaller than Q and M but shorter than P.

P.Q.T.VHoce Mo 30 @) 2 uf 66 (§h06° slgiispl vhdom
L6 I oirl?

D) V.Q &m #6950 M b 8

) Q&bets Meom Tarks o Pémy T

Options :

Question Number : 3 Question Id : 3350524204 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The last Sunday of March 2006 fell on which date?
D) The first Sunday of that month fell on 5th.
II) The last day of month was not Saturday .

$r8) 2006 & wpd saTBo & FOWE 55087
) ©J0 Go) Fsd b0 55 s°0g0d $508.
) © Jv &) epd & TBo T

Options :

1
1.¢

Lad

Question Number : 4 Question Id : 3350524205 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which code word stands for 'good' i the coded sentence 'sin co bye' which means He 15
good?

) Inthe same code language, 'co mot det' means They are good'

)  Inthe same code language, 'sin mic bye' means 'He 1s honest'

28 %088 r46® Heis good”  'sin co bye' e &R0, 'zood & 2 308 &R
]) @ %08d 6" comot def ® wo They are good.
) & $088 grs6® 'sin mic bye' % ofo He is hones.



Options :

1
1.%

2
2.¥

3
3. %

4
4, %

Question Number : 5 Question Id : 3350524206 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s the buymg cost of the shirt?
[)  The shirt was sold for < 800/- at a 20% profit.
[[)  The difference between the selling price and the cost price 1s X 160/

) Tg) EF) 86 aod?
) S & 800/- & eRpd ergfo 20% S0,
II) I &‘é& $% 2Bk @33&?5 [ale]3 é:tﬁé éé@egéo = 160/-.

Options :

1
1.¢

2
2. %

3

3. %



Question Number : 6 Question Id : 3350524207 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

How tall 1s Nandhini?
)  Nandhmi 1s 10 cm taller than Riya, who 1s 150 cm tall.
)  Nandhni 1s shorter than Ananya, who 1s 165 cm tall.

$080 A% 208?
I) 150 2ouddn &6 &) 66 a7 5089 10 Doudon FEI
IT) 165 Zoudon 6% &) ek &) K00 &g

Options :

1
1.¢

2
2. %

3
3. %

4
4. -

Question Number : 7 Question Id : 3350524208 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What was the percentage of defective items produced in the factory?
I)  The factory produced 50,000 items m total.
)  The factory produced 2.500 defective items.

%020 P 308 SHHeE S Shde o J08?
) €028 Zwdo 50,000 SHHe Satrd Thod.
IT) $02d 2500 &éxs) S0 e Thob.

Options :

1
1. %

2
2. ®

3
3.¢

4
4, ®

Question Number : 8 Question Id : 3350524209 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2x+4y=10, xXtpy=>
What 1s the value of x?
X' @) Dend wod?

I) y=1
IT) p>2

Options :
1.¢



fad

Question Number : 9 Question Id : 3350524210 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

There 15 a set of parcels A to F to be handled m a logistics company. Find the heaviest
parcel among them.

[) ‘B islighter than E’ but heavier than ‘D’.
) ‘D’ 1sheavierthan ‘A, Cand F'.

28 Shdw Sohd 39 KJBL%K::@G Aol F 86 thboifads 3@699’:@ dod). © évﬁ}ggééﬁ
wdod 2630 267

) B okt E ) 80¢ Soak D’ 84 atid.

) D esd ‘A C 0o Fo &) 2h3se.

Options :
|
1. %
2
2. %



b

Question Number : 10 Question Id : 3350524211 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

How many children does ‘X’ have?

I) “Y” 15 the only son of ‘Z’ who 1s wife of X’
IT) ‘W’ 1s aunt of ‘Y’

X % 2gen dod 0d?
) Yodoh X& Ph ool Z% 58 Hirbhh.
I) Wedzsh Y S of /29,

Options :

1

b

Question Number : 11 Question Id : 3350524212 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What 1s the value of x?
%’ :ﬁa:Q_ Deodd wos?

1) 2xi3y=12
Il) x-—2ytz=15

Options :

1
1. ®

2
2. ®

3
3. %

A
4. &

Question Number : 12 Question Id : 3350524213 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s the numerical code for “food’ m a certain code language, when

[)  The code for ‘they gave food’ 15 ‘123"
[[)  The code for ‘They all can take good food” 15 ‘324567

28 %088 i food’ & Bodd Sogp 2508?
) %028 e ‘they gave food” & ‘123’ &r0R%.
) & %5028 ge36° “They all can take good food” & 324367 m &=030%.

Options :

1

1. %



2. %

3
3. %

A
4.

Question Number : 13 Question Id : 3350524214 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s the value of x+y+z?
X+ y+2z Qend wos?

I) x+ty=3
iy xtz=2
Options:
1
1.
2
2. %
3
3. %
4
4.

Question Number : 14 Question Id : 3350524215 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Is ‘P’ the uncle of ‘Q’?
1) ‘P’ 1s the brother of ‘M. and ‘M’ 1s the father of ‘Q’.
II) L’ 1s the brother of ‘Q’ and ‘R’ 1s daughter of ‘M..

P ofomd Q% Srdaky /ﬁ)s’&zé& oRETT?
) Podadh M® Fshdh Hodw M odath Q% Sod.
II) Lodarh Q% %kt Dok R edadh M D&,

Options :

1
1.4

2
2. %

3
3. %

4
4. %

Question Number : 15 Question Id : 3350524216 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

How much money does Alice have?
I) Alice has I50/- more than Bob.

II)  Alice and Bob together have I200/-.
DR 88 &f) o) Jo¥?

) ©0R 88 ord &5) &rn 50/- wfESom &J)3.
I) £8% H08cks wrde I8 &F) Fwdo rm) &=n 200/-.

Options :
1. %



2
2. %

3
3.¢

4
4. %

Question Number : 16 Question Id : 3350524217 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Is Hari the topper in exam?

1) 15 students are 1n between Har1 and Chinu
[I)  Chinu is last m the exam

0 $6¢6° w(ipsos” ADTT?
[) &0 o8cho Ve & 15 ob S}wgtﬁgw T
IT) 0% $656° wpthd ss.

Options:

1
1. %

2
2. %

3



Question Number : 17 Question Id : 3350524218 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

On which day of the week 15 Adi’s birthday?
[)  The birthday is not on any day whose name starts with “T" or ‘S’

[[)  Saurabh’s birthday 15 m same week on Wednesday, after Adi’s burthday.

ob Gio¥) %0 FY OB S0t

D) ub e¥jako, P6o6'd Brod sofind’ hsiyd T %0k S 08 2KBS Feod
B,
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Options :

1
1. %

2
2. %

3
3.+

4
4, %

Question Number : 18 Question Id : 3350524219 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



There 15 a circular path around a circular garden. What 15 the width of the path?
[)  The radms of the circular garden 15 20 meters

l[)  The circumference of the circular garden 15 125 meters and the radius of the
circular path around it 15 25 meters.
o8 Ted &b Sip Gws Srdo Sotd. © drfo GE) ey dod?
D) &Te8 &b dul) Feto 20 Hik
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25 ok,
Options :
1
1. %
2
2.9
3
3. %
4
4, w

Question Number : 19 Question Id : 3350524220 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What 15 the length of CD n the quadrilateral ABCD shown below?
I) The length of AB 1s 10 cm and BC 1s 16 cms.

IT) BC 1s perpendicular to BD, and AD 1s petpendicular to AB.
8ot &r0d Sépzo ABCD & (D @¥) 4D aod?
) ABGwE) &4 10 ondon $6ate BC Gt S8 16 Bondd
Il) BC, BD % wouty 5605 AD, AB& woxdy.

D

Options :

|
1. %

2
2. %

3
3.+

4
4, %

Question Number : 20 Question Id : 3350524221 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Which weekday 1s the last day of 19967
I) The year has 53 Mondays and 53 Tuesdays.
II) 1996 1s aleap year.

1996 5 Sos% o Gwg) wpd & Yo & Ga?
I) & ;’:oéé&tﬁoés 53 FPororen H8dke 53 Sos¥Tdsoes o).
IT) 1996 2.¥ 8% SodeBw.

Options :

1

Lad

Sub-Section Number : 2
Sub-Section Id : 335052282
Question Shuffling Allowed : No

Question Id : 3350524222 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (21 to 45)

Question Label : Comprehension

Problem Solving - Sequences and Series
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Sub questions

Question Number : 21 Question Id : 3350524223 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is an arithmetic sequence?

808 06° 28 ¥ wo¥3H?

Options :

1.4.9 16, 25
1. %

3.5, 7.9.11
2. ¥

2.4.8, 16,32
3. %

1,2, 4,8, 16
4, =

Question Number : 22 Question Id : 3350524224 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the 15® term of the Fibonacci series if the 13® and 14® terms are 144 and 233
respectively.
SETE (386" 13 H6 145 Sogger SESM 144 $06ckn 233 s 15 ¥ Sogy Jo8?

Options :
377
1.4
389



261

260

Question Number : 23 Question Id : 3350524225 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ifthe 1¥ term of a G.P. is 2 and the 3" term is 8. Find the common ratio.

ok ol & 3088 DBy LRKS oy SGIE 2 ok 8 vavd, & (3 ¥
Sdardo dod?

Options :

2
1.¢

3
2. %

4
3. %

5
4, ®

Question Number : 24 Question Id : 3350524226 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



How many 6's are there m the following sequence which are either immediately followed
by ‘6 or immediately preceded by ‘6”7
8od eghod’ Nogy ‘6 & dgm ool G Nogp ‘6 & 8 Shard Jogym 6

A J0)087
561266379463106684
Options :
Five
00t
1, %
Four
el
2. ¢
Six
Zla®
3. %
Two
oo
4, %

Question Number : 25 Question Id : 3350524227 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the missing term in the following series:
8od ©EY Skl (RS EH8 LY SR HBoSod:
1K1, IM3,1Q7,  ,2W3

Options :



159

2U0

211

IR7

Question Number : 26 Question Id : 3350524228 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the missing term 1n the following series:
808 ©EY FHS° 08 vl HBoBod:
LLO X SNV M

Options:

G
1. %

F
2.9

(:1
3. %

K
4. %

Question Number : 27 Question Id : 3350524229 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Find odd thing from the following.

Bod RS° DHFS TP HBoBd.

Options :
Platelets
58 HQ8en
1, % -
Red blood cells
8 B8 e
2. %
Nerve cells
& Semen
3.9
White blood cells
8y 88 Ceren
4, ®

Question Number : 28 Question Id : 3350524230 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find odd thing from the following.

808 RS DHFoHS TR HBoNod.

Options :
Joey

gomrd g



Fawn

2o DY
2. %
Hen
858 &
[
3. ¢
Foal
gilatali-T5)
4, ®

Question Number : 29 Question Id : 3350524231 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find odd thing from the following.

8od RS DHFoS TR BB,

Options :

Ears

D

Skin
aﬁdéo

Tongue

een¥



Heart
hod

Question Number : 30 Question Id : 3350524232 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find odd thing from the following.

808 TRE° PH DS A KHBoBaa.

Options :
Shark
&8 I3
1. ¢
Whale
&soolieo
2. ®
Dolphin
NS
&
3. #
Seal
o]
4, %

Question Number : 31 Question Id : 3350524233 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Find odd thing from the followimng.

Bod RS° DHToS TR HBoBod.

Options :
Fire fox

5 5§

Chrome

5

Photoshop

TS

Safan
[er8

Question Number : 32 Question Id : 3350524234 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find odd thing from the following.
808 TR PHPS IR HoNea.

Options :

8:276



9:324

5:100

Question Number : 33 Question Id : 3350524235 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find odd thing from the following.

808 TR PHBS TR HooSed.

Options :

BFU
1. ®

KOL
2. %

XD
3.

IMN
4, %

Question Number : 34 Question Id : 3350524236 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Find odd thing from the following.

8od RS° PHFoH TR HBosod.

Options:

ASTRO-AOTSR

1. %

THRIVE-EIVRTH
2. ¢

GROUP-OURPG
3. %

APICET-AEITPC
4. %

Question Number : 35 Question Id : 3350524237 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the missing term in the following series:
8o (BAS® &°hd Soggd HBoNod:
Sosldy 2 Ll s

Options :

1333
1.4

1002

731



1225

Question Number : 36 Question Id : 3350524238 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the missing term in the following series:
Bod TR 08 ©EY SRR HBoBod:
RISE : NLOQF": : GOAL :

Options :

CRAM

CRYM

KLCK

KLBM

Question Number : 37 Question Id : 3350524239 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the missing term in the following series:
Bod TUE° &0 e HBoEod:
6F : 18R : : 8H :

Options :
1. %



ZLL

22V
2. %

228
3. %

24X
4. v

Question Number : 38 Question Id : 3350524240 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the odd one out:

Bod TAE° DHS AR HBoBod:

Options:
Mercury
208505

1. %

Venus
DB

2. %

Earth
230
3. %



Moon

Solthots

Question Number : 39 Question Id : 3350524241 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What 1s the sum of the following series?
8ob (3D Bo¥) Jozge Indo Jod?

— 64, -66, 68, ..., -100

Options :

—1458
1. %

—1558
2. ¢

—1568
3. %

— 1664
4, ®

Question Number : 40 Question Id : 3350524242 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find out the alternative which will replace the question mark?
Bod RE Y & K65 Sogp HBo¥oA?
156:7 26717

Options :



10

1.%

14
2.

8
3. %

6
4. %

Question Number : 41 Question Id : 3350524243 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the missing series in the following series:
Bod TS 7 B $05% wEY SR HYoKod:
LXM: 12 X 13 :: UXW:?

Options:

21 X 31
1. %

21X 22
2. %

21 X 25
3. %

ZI X 23
4. ¥

Question Number : 42 Question Id : 3350524244 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find the odd one out from the following series:
Bod (38 &° DHDS PR HBoBod:

8, 27,64, 100, 125, 216, 343

Options :

27
1. %

100
2. ¥

125
3. %

343
4, w

Question Number : 43 Question Id : 3350524245 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the missing number 1n the following number series:
Bod Sogry 3RS S°08 Jogd HoNod:

L2038, 24 15 296, 2

Options:
1525
1. %
15375



Question Number : 44 Question Id : 3350524246 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the missing number in the following number series:
Bod SogryEBS® 08 Soggdd HhBoNod:
13,39, 117. 2. 1053, 3159

Options :

329

L
hn
—

Question Number : 45 Question Id : 3350524247 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the odd number in the following number series:
Bod Sogey (FBS® PHTS TR HBoBod:
28. 44, 64, 90,116

Options :



90

116

28

64

Sub-Section Number : 3
Sub-Section Id : 335052283
Question Shuffling Allowed : No

Question Id : 3350524248 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 49)
Question Label : Comprehension



Prablem Selving - Data Analysis
D H8}80 - Eod D

DIRECTIONS for questions 46-49: Refer to the pie charts given below and answer the
questions.

S’ : Bob Swabde dbod Ko Sirmsind add@rhod (e 46-49 o Sirpriinw

aéso&.

The following pie-charts show the distribution of students of graduate and post-graduate levels
seven different institutes m a town.

(B0b Sodh S8t 28 Sbing™ T A Sogo dboth o (P Do
] (P amho Dol BDEDTI.

Total Number of Students of 2o Lptfgnagéf Soeoen
Graduate Level = 27300 = 9 8%

N P faospg = 27300
129% 12%

Total Number of Students of méo @SE @&5&5 353‘%‘@
Post-Graduate Level = 24700
‘n’)ospag = 24700

N P
15% 129%

Sub questions

Question Number : 46 Question Id : 3350524249 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What 15 the total number of graduate and post-graduate level students m mstitute R?

R &b dmyion abod flo (Ppdhs Soab &5 (midhiS St Sogp Sndo o)
@ Y [N J 9% o

Options :

Question Number : 47 Question Id : 3350524250 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 15 the ratio between the number of students studying at post-graduate and graduate
levels respectively m the mstitute S?

'S o oy Ko dboth Stk B4 (PibydeS Sibotn (PedS e A48 2087

Options :

14: 19



19: 14

Question Number : 48 Question Id : 3350524251 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

How many students of mstitutes M and S are studying at graduate level?

M &6ak S o daeg doe dhotdh i Ao Lmtfc;cﬁcé? Ao Nogy wol?
@ ) ] 2o

Options :

7516

1%

8463

9127
3. %

9404
4, %

Question Number : 49 Question Id : 3350524252 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Total number of students studying at post-graduate leve] from mstitutes N and P 15

Nibah P e g doo dhoth SEH&) dndo 075 (reocsS Ao dogy 2od?

Options :

5601



944

6669
3.¢

8372
4, %
Sub-Section Number : 4
Sub-Section Id : 335052284
Question Shuffling Allowed : No

Question Id : 3350524253 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (50 to 52)

Question Label : Comprehension



Problem Solving - Data Analysis
Ddars 8k b0 - o Jian
DIRECTIONS for questions 50-52: Refer to the bar chart given below and answer the

questions.
(208 28 P o o SrEEND eBRCoD [ 50-52 o8 dirprie sl

Sale of Cellular Phones

43000
50000 1

40000 40000
40000 A
30000
30000 -
25000
20000 4 18000
10000 - I
0 1 T T T T T

1957 1988 1995 2000 2001 2002

Scale of cellular phones

Years

Sub questions

Question Number : 50 Question Id : 3350524254 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The difference m the sales of cellular phones for the years 1997 and 1999 157

1997 Hdak 1999 3 SosdBined’ 26 elyred® Ko 3 Jod?

Options :

1. %



500 units

500 cSrRen

1.000 units

1,000 c&=Qex
2. %

5,000 units

5,000 c%réx
3. %

18.000 units

18,000 csrén
4, &

Question Number : 51 Question Id : 3350524255 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The sum of sales of cellular phones m the years 1999 and 2001 1s equal to that of which
year’
1999 565 2001 § Sosd¥snes® w6hs P wiFe Zdo, (B FHE 3

;6055636065 20A3 @é}&?@é dardo?

Options :

1997

1.4

2. %



1998
2000

2002

Question Number : 52 Question Id : 3350524256 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The percentage mereases m sales from 2001 to 2002 was?

2001 Soseysod* &3 2002 3 HodBos 0AS S eilywed’ 9 Fdo dod?

Options :

115 %

128 %

118 %

Sub-Section Number : 5
Sub-Section Id : 335052285
Question Shuffling Allowed : No

Question Id : 3350524257 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 55)
Question Label : Comprehension



Problem Solving - Data Analysis

APs a8k 80 - dEold A1am

DIRECTIONS for questions 53-53: Refer to the lme graph given below showing Ratio of
Exparts to Imports of two Companies A and B over the years 1995 to 2000.

808 B 806’ o SrmYn ekiitod B 53 - 55 v Sirrriing sl

1995 S0 2000 Sosd¥in $6% A 6et B o Tt donde Gud) Abihkes,

Brbioo St Mher B god’ Kriinlse.

1.75 1.75
1,75 1

123 4
1.25 1

0.75 -

0.75 0.75

0.5 1
0.25 4

1995 1996 1997 1998 1999 2000

Years —~#-Company€od) A

-0-lfﬂrﬂpam,gf:fib:b B
Sub questions

Question Number : 53 Question Id : 3350524258 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In how many of the given years were the exports more than the imports for Company A?

D S i o0 A Gud) bioder, TR Gné) Bibiade YoB 287

Options :



1.%

3
2.¥

A
3. %

5
4, %

Question Number : 54 Question Id : 3350524259 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the exports of Company A 1 1998 were 3237 crores, what was the amount of imports
i that year?

g0 A Gg) absoiben, 1998 Sosé8o6® drn 237 Sy wows, €8 Sosdbos®
T @) Bibhde dod?

Options:

189.6 crores

189.6 &%y
1, %

243 crores

243 35@
2. %



281 crores

281 8%

316 crores

316 8%y

4. &

Question Number : 55 Question Id : 3350524260 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In how many years were the imports more than the exports for company ‘B?

OR) Sosdgsue i 02 B Gw) bibibhden, TR @) AbiH%e of )87

Options:

&
J

Sub-Section Number : 6
Sub-Section Id : 335052286
Question Shuffling Allowed : Yes

Question Number : 56 Question Id : 3350524261 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Problem Solving - Coding and Decoding Problems

R s H8ar) 80 - $80f H80% AFB0R ndsen

If m the English alphabets, every alternate letter from B onwards 1s written m small letters

while others are written 1 capitals, then how will the 3rd day from Tuesday will be
coded?

gofind’ o¥rei 2f efTam (0, B Hod (38 ok efm) OF) eglom &78),
Sooffgmdo o8 Sirks B wolfind® @3 Bod PS 308 Sodeahod?

Options :

WeDNeSdAY

FrIdAy

THURSAAY

friIdAY

4. ¥

Question Number : 57 Question Id : 3350524262 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Problem Solving - Coding and Decoding Problems

Dars 5880 - FBoR SH8atw AFA0R S sen

In a certain code 'CERTAIN' is coded as BFQUZIM' How 1s MUNDANE' coded in that
code?

28 %088 orig® 'CERTAIN'$ BFQUZIM (3, ©d 746" MUNDANE

& ™ (RS,

Options :
LVMEZOD

1.¢

NTCOMBF

NTOCNBF

LTMCZOF

Question Number : 58 Question Id : 3350524263 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Problem Solving - Coding and Decoding Problems

D& 2880 - ¥B0R HBatn AEBOR Ndnsen

If the letters of the word 'CYCLINDER' are arranged alphabetically, then which letter
would be farthest from the first letter of word?

o8 $ri50 CYCLINDER 6% séess eoff o6 ({08t msiots 2wh ofords
sd08 &rdom 408 ©gdo 287

Options :

Question Number : 59 Question Id : 3350524264 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem Solving - Coding and Decoding Problems

A&arg 982k 80 - §80f 8ok AFBOR D gen

In certain code 'HILTON' 1s written as THTLNO'. How 1s BILLION' written i that code?
2% %088 rié® HILTON' & 'THILNO La?é, o3 48 BILLION' & _ b,

Options :
1. %



IBLLION

IBOILLN
2. %

IBLLOIN

IBLOILN
4. %

Question Number : 60 Question Id : 3350524265 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem Solving - Coding and Decoding Problems

A& 28ar) 80 - ¥80R H8otn AFROR s

In a certain code language, the word ‘PERFORMANCE ' 1s coded as ‘GEIFFIDAECE’
then what 1s the code for ‘LEGISLATIVE’

o€ %088 p4¢* ‘PERFORMANCE' % ‘GEIFFIDAECE' m (R, 3 rdé®
‘LEGISLATIVE' & ® P,

Options :

CETAJCABRIE

CEGIICABIDE

CEGIRABCDIE



CETAJACBRIE
4. %

Question Number : 61 Question Id : 3350524266 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem Solving - Coding and Decoding Problems

DDRrs H8r) 80 - Ao H8%H AFAOR Hdsen

If PHONE: 63
COIR : 49
BAT:?
2.8 %088 ¢38® PHONE : 63 90¢% COIR : 49 wowd BAT: .

Options :
26
1.¢
36
2. %
46
3. %
27
4, %

Question Number : 62 Question Id : 3350524267 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Problem Solving - Coding and Decoding Problems

H&arg 5880 - ¥d0f 8ok AFB0R Hdsen

In a certain code language, 1f each vowel of English alphabet 1s coded as 9 and each of the
consonants 1§ coded as 6, then what 1s the code for the word “CLAIRVOYANCE”

28 %088 P46 wof efmed (38 O ‘Y TR, (38 Ty 6 m 3
“CLARVOYANCE” & 080

Options :

996966996969

669696696696

669966969669
3.¢¥

996699696996

Question Number : 63 Question Id : 3350524268 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Problem Solving - Coding and Decoding Problems

D&arg H8ax 80 - §80F 80k AFB0R Hdv e

If PAINT 1scoded as ‘74128’ and ‘EX CE L’ 1s coded as “93396”, then how would you
encode ACCEPT?

o8 %088 et PAINT & 74128 mio, EXCEL & ‘93596’ o (5
pa8 ACCEPT % ® .

Options :

455978
1.¢

547978
®

554978
3. %

735961

Question Number : 64 Question Id : 3350524269 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem Solving - Coding and Decoding Problems

D&ars $8ar80 - ¥B0F L1805 AFAOR Dl sen

If D’ 1s coded as 4 and ‘COVER 1s coded as 63, then ‘BASIS’ will be coded as
28 %088 rid® D& 4 mo Hook ‘COVER' & 63 o &707, €8 gesé® BASIS
D P PG,

Options :



49

1. %

50
2.¥

54
3. %

55
4. %

Question Number : 65 Question Id : 3350524270 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem Solving - Coding and Decoding Problems
Ddars 5880 - €80R 80k AFBOR Hd e

In a certain code, 21s coded as P, 3as N, 9 as Q, S as R, 4 as A and 6 as B. How 1s 599423
coded 1 that code?

o8 5088 a6® 29 P md, 3% N, 9% Q ™, 55 R, 4% A md H6dk
6% B md 4203, €3 i 509423 % ™ SRORRS.

Options :

E1LD BT

RQPANB

EIMDBC
3. %



RQQAPN

4,

Sub-Section Number : 7
Sub-Section Id : 335052287
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 3350524271 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem Solving - Date, Time and Arrangement Problems

Dr g S8R50 - BB, HHAH0 HBA @HBEe DD

What day of the week will 1t be 200 days after a Sunday?
o2& BBl 08 200 Feve Shd G o & T vH%0d?

Options :
Monday

fESoae8o

Tuesday
SvleTet-uilele

Friday
HEF8o

Thursday

gslebEvidetel



Question Number : 67 Question Id : 3350524272 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem Solving - Date, Time and Arrangement Problems

AR S D850 - BB, 9030 HBA wHBEL ddhRsen

If a bus travels at 60 km/hr and a car travels at 90 km/hr. how much more distance will the
car cover 1n 2 hours than the bus?

28 o) £0ckn T o SESm 60 ndn S0 908 Fod (Serd?, 2 oo
Sihabod® T, aily) €) o8 A& rbo (Skedion?

Options :
30 km
30 &idon
1. %
40 km
40 &ndon
2. ®
50 km
50 &n &
3. ®
60 km
60 21 &
4.

Question Number : 68 Question Id : 3350524273 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Problem Solving - Date, Time and Arrangement Problems

HRrs H8aEy80 - B8, HhoHo HBok ©%8Ee HHDse

The ratio of speeds of A and B 1s 3:4. If A takes 40 mumutes to cover a distance, how much
time will B take for the same distance?

Aiiboto Bo Gffow D58 3:4. 8 83 Kre)) (Saiproutrds A8 40 ddire
Sibobio 588, o &rord) (Sotrdlosiedd B 5§ Soabo dod?

Options :

30 mmutes

30 Qwapen
1. ¢

35 minutes

35 JAapren
2. %

45 minutes

45 D&oapen
3, %

50 munutes

50 Doapen
4, ®

Question Number : 69 Question Id : 3350524274 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Problem Solving - Date, Time and Arrangement Problems

AP H8aFY80 - B, 1haHo HBAN @HBEL HHVI

If 24™ February, 2010 was Wednesday, what day of the week will be 11" October in that
year?

2010 $i@x6 3o 248 35 wEFYo wand, ©F JosEBos® @%&5 30 115 3b Phod

2 B oos?
Options :
Friday
BHEBo
1.%
Saturday
JArBo
2. %
Sunday
Zlakwidelel
3, %
Monday
B0
4. &

Question Number : 70 Question Id : 3350524275 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Problem Solving - Date, Time and Arrangement Problems

Hars H8ar60 - B8, Hhoho Sk whdie HHDsm

o~ - -
If the Seconds hand moves by 300", then by how much angle does the Minutes hand move
mn the same time?

Hacirbo6™ 28 ey 300° 86AS4pt 03 Sahod® Ao Sney ol
8%hod?

Options :

qﬂ

Question Number : 71 Question Id : 3350524276 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Problem Solving - Date, Time and Arrangement Problems

A&arg H8ary80 - B8, 10H0 HBAD KL HHVIN

Ifanb=a*+D*-ab
aVbh=a*+b*+ab

Then what1s (1A2)V(1v2)
aAb=a’+b®—ab $Bdk

aVh=a®+D*+ab vonad

(1A2)V(1V2)R0s?
Options :
54
1. %
441
2.9
247
3. %
1429
4, %

Question Number : 72 Question Id : 3350524277 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Problem Solving - Date, Time and Arrangement Problems

Dearg D880 - B, 203H0 HBK ©HBEe DDy

How 1s your mother’s maternal aunt’s only niece’s father related to you?
39 Go¥) &%) | ki) Gy B8 TKEUD dol@ v AT

Options :
Grand father

aees

Uncle
SPRAhy [ AR,

Father

So(d

cousin

edaiesla

Sub-Section Number : 8
Sub-Section Id : 335052288
Question Shuffling Allowed : No

Question Id : 3350524278 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (73 to 75)
Question Label : Comprehension



Problem Solving - Date, Time and Arrangement Problems

DR g 2880 - BB, D090 HBcKH ©HBEL NN

Directions to solve Q.No. 73 to Q.No. 75:
808 ¥iSrmding ©n0od (e T8-758 aFme wi0d.

Five boys are sittimg on a bench to be photographed. Shyam 1s to the left of Ravi and to
the right of Sachin. Martin 1s to the right of Ravi. Rajiv 1s between Ravi and Martin,
w8 P8 BOFNmI8 o) of oy D MG, TH ehd 628 26 398

b 3056 B8 358 Lrth. 628 HEH $508 L. 8D bk £7050
4% S Sy,

Sub questions

Question Number : 73 Question Id : 3350524279 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Who 1s sitting immediately right to Rajiv?

oESH S HEZHS ErENHS DBE?

Options :
Sachin

DS

Ravi

Martin

505
3.¢



Shyam

=
TG

Question Number : 74 Question Id : 3350524280 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who is 1n the nuddle of the photograph?

53‘5&3‘5@565 DL EPENHE 5K?

Options :
Sachin
Pl
1. %
Ravi
ot4)
2. ¥
Rajv
oS
3. %
Shyam
Fop0
4. %

Question Number : 75 Question Id : 3350524281 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Who is second from the right in the photograph?
FETHS® HAZDH o0& DorH H8 HBB?

Communication Ability

Options :
Martin
S8R

e

1. %

Ravi
ofd)

2. %

Rajiv
ES
3.
Shyam
o=
EDE'}':"J
4. %
Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :

Sub-Section Id :

33505262
2

Online
Mandatory
54

54

70

0

1
335052289



Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 3350524282 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the option that 1s closest in meaning to the word briefing:

Options :

A long report detailing company finances

1. %
A short meeting or document providing key information
2.v
A formal warning given to an employee
3. %
A technical manual for a product
4, %

Question Number : 77 Question Id : 3350524283 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct meaning of the following word:
“Zealous”

Options :

present

WOITY



passionate

nostalgia
4, %

Question Number : 78 Question Id : 3350524284 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the Synonym for:
“magnify”

Options :

lessen

msufficient

exaggerate
3. ¢

include

Question Number : 79 Question Id : 3350524285 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct synonym of the word:

“Sagacious.”

Options:



Fatuous

1, %

Obtuse
2. %

Dumb
3. %

Wise
4, &

Question Number : 80 Question Id : 3350524286 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct antonym of the underlined word:
The company’s magnanimous gesture of waiving fees for struggling clients earned public
praise.

Options :

Generous

Stingy

Benevolent

Charnitable



Question Number : 81 Question Id : 3350524287 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the Antonym for:

“mhale”

Options :

cruel

smell

drink

exhale

Question Number : 82 Question Id : 3350524288 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the Synonym for:

“abstam”

Options :
refrain
1.4
promote



remember

absurd

Question Number : 83 Question Id : 3350524289 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the Antonym for:

“transparent”
Options :
opaque
1. %
visible
2. %
soluble
3.
clear
4, %

Question Number : 84 Question Id : 3350524290 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Choose the Antonym for:

“haughty™

Options :

meek
1. ¢

shametul

dall

i

y

NErvous

Question Number : 85 Question Id : 3350524291 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct meaning of the following word:
“Catastrophe”

Options :

pessimistic

mprobable

revolutionary



disaster

Question Number : 86 Question Id : 3350524292 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the option that 1s closest in meaning to the word consensus:
Options:

A general agreement among a group
1.¥

A disagreement between two teams

2. %

A report on company finances
3. %

A set of strict company policies
4, %

Question Number : 87 Question Id : 3350524293 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the option that 1s closest in meaning to the word optimisation:

Options :

Process of making something more efficient or effective
1.

Complete shutdown of a project



Rejection of new ideas

Financial loss 1 a busimess

Question Number : 88 Question Id : 3350524294 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the option that 1s closest in meaning to the word endorsement:

Options :

Rejection of an 1dea or proposal
1. %

Formal approval or support
2.¢

Decision to delay a project
3. %

Complaint filed against a manager

Question Number : 89 Question Id : 3350524295 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct meaning of the following word:

“Defer”

Options :

Demand



Complete

Refuse

Postpone
4.+

Question Number : 90 Question Id : 3350524296 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaning of the underlined word:
One of the major health problems associated with technology 1s deteriorating eyesight.

Options:

Improving

Weakening
2.9

Stabilizing

Expanding

Question Number : 91 Question Id : 3350524297 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Fill in the gap in the following sentence using the correct form of the verb:

By the time the manager arrived, the team the presentation.

Options :

has already started

1. %

had already started
2.9

1s already starting
3. %

was already starting
4, %

Question Number : 92 Question Id : 3350524298 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fill in the gap in the following sentence using the correct preposition:

The project has been i development last March, and we expect to complete it

S001L.

Options:

since



during

at

Question Number : 93 Question Id : 3350524299 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with a suitable word in the sentence below:

His dream 1s to study in university.

Options :

a
1.9

dan

the

no article
4, %

Question Number : 94 Question Id : 3350524300 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with a suitable word in the sentence below:

Call man waiting outside.

Options :

1. %



a

dan

2. %

the
3. v

no article
4, %

Question Number : 95 Question Id : 3350524301 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with a suitable word in the sentence below:

My classroom 1s the 4th floor, so I take the hift.

Options :

on
1.9

Question Number : 96 Question Id : 3350524302 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Fill in the blank with suitable word:

Simon 1s standing me.
Options :
over
1. %
on
2. %
beside
3.¢
at
4, ®

Question Number : 97 Question Id : 3350524303 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with a suitable word in the sentence below:

On Saturday mornings, I am usually school.

Options :

m

at

o1

mside



Question Number : 98 Question Id : 3350524304 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with a suitable word in the sentence below:

I could not achieve all that I aimed

Options :

at
1.4

on
2. %

with
3. %

by
4. %

Question Number : 99 Question Id : 3350524305 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct passive voice:
A strong storm destroyed many houses in the village.

Options :

Many houses i the village were destroyed by a strong storm.

A strong storm has destroyed many houses m the village.



Many houses 1 the village are destroying by a strong storm.

A strong storm was destroyed by many houses 1n the village.
4, %

Question Number : 100 Question Id : 3350524306 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the indirect speech for the following:
Clinton said, “T am very busy now.”

Options:

Clinton said that he was very busy now.

1.%
Clinton said that he is very busy now.
2. %
Clinton said that he was very busy.
3. %
Clinton said that he was very busy then.
4.9

Question Number : 101 Question Id : 3350524307 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Choose the indirect speech for the following:
He asked. "Where have you been?"

Options :

He asked me where I had been.

1.4

He asked me 1f I had been.
2. %

He asked me that I had been.
3. %

He asked me when I had been.
4, ®

Question Number : 102 Question Id : 3350524308 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with suitable word:

intake of sugar can cause health problems.

Options:
Access
1. %
Excess of
2. %
Excessively



Excessive
4.

Question Number : 103 Question Id : 3350524309 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with suitable word:
I felt sick I went on the roller coaster twice!
Options :

because
1.9

though
2. %

SO

although
4, %

Question Number : 104 Question Id : 3350524310 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with suitable word:
The address you have to send the form 1s at the back of the envelope.

Options:

which



where

that

whom

Question Number : 105 Question Id : 3350524311 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with a suitable word in the following sentence:

My friends up late on weekends.

Options:

gefs

will get

2. %

shall get
3. %

oel
4. &

Question Number : 106 Question Id : 3350524312 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Choose the correct passive form for the following:

Nobody has answered my question yet.

Options :

My question has not been answered yet.

1.
My question has not answered vyet.
2. %
My question 1s not answered yet.
3. %
My question had not been answered yet.
4, %

Question Number : 107 Question Id : 3350524313 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct verb form:

"She to the store every day."

Options :

go
1.%

goes
2.¢

going

4, %



went

Question Number : 108 Question Id : 3350524314 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct comparative form:

"This car 1s than that one."

Options :

more fast

faster

fastly

most fast

Question Number : 109 Question Id : 3350524315 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct question tag:
"She 1s a doctor, ™
Options :

1sn't she
1.9



1s she

2. %

doesn't she
3. %

does she
4. %

Question Number : 110 Question Id : 3350524316 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Select the correct possessive pronoun:

"This book 1s b
Options :
her's
1, %
hers
2. %
hers'
3, %
her
4, ®

Question Number : 111 Question Id : 3350524317 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What does "GUI" stand for in computer systems?

Options :

Graphical User Interface
1.4

General User Interface
2. %

Graphical Unified Interface
3. %

General Unitied Interface
4, %

Question Number : 112 Question Id : 3350524318 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does "SQL" stand for?

Options :

Structured Query Language
1.4

Secure Query Language
2. %

Simple Question Language
3. %

Standard Question Language



Question Number : 113 Question Id : 3350524319 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s an example of a business management software?

Options :

Google Analytics

1. %

Microsoft Excel
2. %

SAP
3. v

Adobe Photoshop
4, %

Question Number : 114 Question Id : 3350524320 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The function of a "Firewall" 1n a network 1s

Options :

To store files

To prevent unauthorized access to or from a private network

To increase internet speed



To manage network tratfic

Question Number : 115 Question Id : 3350524321 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What does the term “Unicorn” represent in business terminology?

Options :

A privately held startup that has a valuation of over $1 billion

1.4

A private company operating in more than 1 location

2. %

A Public listed company that has valuation of over $10 million
3. %

A Public company offering a unique product
4, %

Question Number : 116 Question Id : 3350524322 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What 15 the term for dividing a company’s target market mto smaller groups based on
specific characteristics?

Options :

Market expansion



Market segmentation
2.9

Product development

Brand positioning

Question Number : 117 Question Id : 3350524323 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does HTTPS stand for?

Options:

Hyper Tech Transfer Protocol Secure

Hypertext Transmission Protocol Standard

Hypertext Transfer Protocol Secure
3.¢

High Tech Transfer Protection System

Question Number : 118 Question Id : 3350524324 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What does "CPU" stand for?

Options :

Central Processing Unit
1.9

Computer Processing Unit
2. %

Central Program Unit
3. %

Computer Peripheral Unit

Question Number : 119 Question Id : 3350524325 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s a "LAN" in computer networking?

Options :

Large Area Network

1. %

Local Area Network
2.

Linear Access Node

Logical Array Network

Question Number : 120 Question Id : 3350524326 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A "memorandum" (memo) 1s typically used for:

Options :

External customer communication

Formal legal documents

Internal company communication
3.¢

Advertising campaigns
4, %

Question Number : 121 Question Id : 3350524327 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s NOT a programming language?

Options :

Python

1. %

Java

HTML

ChatGPT

4. &



Question Number : 122 Question Id : 3350524328 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The process to start up a computer 1s known as

Options :

Start

Control Panel

2. %

Booting
3. v

Reboot
4, %

Question Number : 123 Question Id : 3350524329 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does "M&A" stand for in business?

Options :

Market Analysis and Research

Market and Advertising

Mergers and Acquisitions
3. v



Management and Accounting

Question Number : 124 Question Id : 3350524330 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What 1 the group of customers called that a business has decided to am 1ts promotions
at?

Options :

Target Market
1.v

Sales preference

Employees

Marketing

Question Number : 125 Question Id : 3350524331 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s the official term used to the notes that are recorded during a meeting?

Options :
Hours

1. %
Minutes

2. ¥



Record

3. %

Transcript
4. ®
Sub-Section Number : 2
Sub-Section Id : 335052290
Question Shuffling Allowed : No

Question Id : 3350524332 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (126 to 130)
Question Label : Comprehension

Read the following passages and choose the correct answers for the questions 126 to 130.

Legal systems can be broadly divided into two mam types: common law and civil law. Most
countries 1 the world use one of these systems, although many countries m the Middle East and
North Aftica have religious law. Some other countries - usually i the developing world - have
a system of customary law, which 15 based on patterns of behaviour 1 a particular social settmg
or community. There are also mixed systems m operation, but these are not widespread.
Common law 15 defmed as a legal system which 1s based on a tradition of previous judgments,
or ‘cases’. In this system qudges base their judgements on ‘like cases’ which are very similar to
the one before them. This 1s why another term, case law, actually means the same as conimion
law. Tn countries with cfvil law systems, judgements are made with reference to codes and
staufes tather than previous cases. Civil aw systems are more structured and rely on
comprehensive legal codes that outline all matters that can be brought before a court. In
contrast, common law evolves over time through judictal decisions, allowing for greater

flexibility m mterpretation.

Sub questions



Question Number : 126 Question Id : 3350524333 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Common law 1s also known as

Options :

Religious law

1, %
Case law
2. ¢
Customary law
3. %
Civil law
4, %

Question Number : 127 Question Id : 3350524334 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Civil law systems rely on to make judgments.

Options :

Previous cases

1. %

Legal codes
2. ¥

Customary practices
3. %



Religious texts

Question Number : 128 Question Id : 3350524335 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A key advantage of comumon law 1s its

Options:

Strict structure

1. %

Flexibility
2. ¥

Religious foundation
3. %

Dependence on codes
4, %

Question Number : 129 Question Id : 3350524336 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Religious law 1s mostly found in

Options :

North America
1. %

Europe



Middle East

3.¢¥

Australia

Question Number : 130 Question Id : 3350524337 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The word ‘customary’ 1 the passage means

Options :

Traditional
1.9

Legal

Uncommon

Official

Sub-Section Number : 3
Sub-Section Id : 335052291
Question Shuffling Allowed : No

Question Id : 3350524338 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (131 to 135)
Question Label : Comprehension



Read the following passage and, based on its content, choose the correct answer for each

of the questions from 131 fo 135.

The shift towards remote work has urevocably altered traditional employment paradigms,
compelling companies to reassess therr operational structures and adapt to a distributed
waorkforce. This has resulted i a re-evaluation of performance metrics, emphasizing measurable
output and productivity over mete physical presence i a traditional office setting. In the context
of remote work, the omus falls upon employers to foster a robust sense of community and
cohesion among geographically distributed teams, mitigating the potential for professional
isolation and fostermg a sense of shared purpose. While the benefits of flexibulity, mproved
work-life balance, and reduced commutmg are undeniable, the long-term mplications for
employee cohesion, and the preservation of organisational knowledge remam subjects of
ongoing debate. Experts opine that the subject demands a nuanced and adaptable approach.
Compantes must priorttise clear communication, excellent virtual collaboration tools. and
proactive strategies for mamtaming team morale, ensurmng that remote work fosters both

mdividual productrvity and collectrve success.

Sub questions

Question Number : 131 Question Id : 3350524339 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s the central idea of the passage?

Options:

Remote work 1s a temporary trend that will fade soon.

2.



Companies must adapt their strategies to ensure remote work success.

Remote work has no impact on traditional work environments.

Employee productivity declines i remote work settings.
4, %

Question Number : 132 Question Id : 3350524340 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the option that 1s closest in meaning to the word "onus" i the sentence:
In the context of remote work, the onus falls upon emplovers to foster a robust sense of

community..

Options:

responsibility

difficulty

benefit

warning

Question Number : 133 Question Id : 3350524341 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What 15 a major challenge faced by companies that have remote teams?
Options :

Providing internet facility to employees

1.%
Ensuring that employees work longer hours
2. ®
Maintaming team cohesion
3.v
Reducing operational costs
4, %

Question Number : 134 Question Id : 3350524342 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the option that 15 closest in meaning to the word "urevocably" in the sentence:
The shift towards remote work has irrevocably altered traditional employment
paradigis...
Options :

temporarily

1. %

slightly
2. %

permanently
3.¢¥



mconsistently

Question Number : 135 Question Id : 3350524343 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The phrase "nuanced and adaptable approach" m the passage suggests that companies

must:

Options :

Implement rigid policies without flexibility.

Use the same strategies for all remote employees.

Tailor their strategies to the specific needs of their workforce.

3.¢

Ignore the challenges of remote work.

4, %

Sub-Section Number : 4
Sub-Section Id : 335052292
Question Shuffling Allowed : No

Question Id : 3350524344 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (136 to 140)
Question Label : Comprehension



Read the following passage and choose the correct answers for the questions from 136 to

140.

Just before Christmas in 1944, a letter arrived at our house in Philadelphia. The postmark was
from Tuskegee. Alabama, so we all knew who it was from. We excitedly gathered around
Mother as she opened it at the kitchen table.

My Dear Mother,

I did not get the leave I expected for Christmas. I will miss all of you. Please leave the
Christmas tree up until I make it back. I hope to be home by March.

Love trom your son,

Clifton

T'was 17 vears old at the time. My heart sank. I felt a profound sadness that my favorite brother
would not be home for Christmas. He was one of the Tuskegee Airmen and was responsible for
maintaining the airplanes flying off to fight in World War II. My mother, being the optimist she
always was. said. “Well. it looks like we’ll get to have two Christmases this year!”

After Christmas, my sister and I worked together to make sure we kept that Christmas tree
looking as pretty as possible. This was no easy feat. By mid-January, the branches drooped so
low to the ground that they became a sliding board for the decorations. Each day, ornaments
would come crashing to the ground and there were brand new sprinklings of pine needles all
over the wooden floor. My sister and I took tumns sweeping them up. We repositioned the
omaments to the stronger branches on the ftree, hoping they would stay on. Each time we
freshened that tree up, my sister and I were full of thoughts about Clifton and how happy we
would be to see him again. It made us feel that he was close by, even though he was hundreds of
miles away. On March 5. the doorbell rang. We ran to the door and gave Clifton a big hug. As
he hugged Mother. I could see him peek over her head at the Christmas tree. “It’s beautiful.” he
said. “Thank you.” Clifton opened his presents and told us all sorts of stories about his work n
Tuskegee. That night as we slept. we heard a crash in the hiving room. We all ran to see what
had happened. The tree had toppled onto the sofa and there were needles and broken ornaments

everywhere, We all had a good laugh. It was fortuitous Clifton got home when he did!

Sub questions

Question Number : 136 Question Id : 3350524345 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

After Clifton's letter 1s read to the fanuly, the narrator’s mood shifts from



Options :

arrogant to humble

1.%
sad to joyful
2. %
uncertain to clear
3. %
excited to disappointed
4.9

Question Number : 137 Question Id : 3350524346 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the middle of the story, we learn that the mother 1s an optimst. This means she

Options :

1s not easily upset

1%
upholds high standards
2. %
maintains a positive viewpoint
3. v
considers all outcomes before making a decision
4, %

Question Number : 138 Question Id : 3350524347 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
Which of the following words best describes the work the sisters did to help keep the tree

looking pretty?

Options:

teamwork
1.9

muracle
2. %

disaster

drudgery

Question Number : 139 Question Id : 3350524348 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 15 the most likely reason the narrator compared the tree limbs to a “slidmg board™

Options :

They were so high in the air.

The ornaments were slipping off.
2. ¥

The sisters liked to play on them.
3. %



The branches looked ugly without their needles

Question Number : 140 Question Id : 3350524349 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

How does Clifton seem to feel when he sees the Christmas tree?

Options :

appreciative
1.

disappointed

estranged

remorseful
4, %

Sub-Section Number : 5
Sub-Section Id : 335052293
Question Shuffling Allowed : No

Question Id : 3350524350 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the following passage and choose the correct answers for the questions from 141 to

145,

The Rise of E-Sports and Gaming Culture:

The e-sports mdustry has expertenced explosive growth, transformmg gamimng from a niche
hobby 1o a global phenomenon. This surge has had significant social and economic mpacs.
Socially, e-sports has fostered a vibrant online community, bringing together mdividuals from
diverse backgrounds with a shared passion. It has created new forms of entertamment, with live
fournaments drawing massive onlme and m-person audiences. Economically, e-sports has
generated substantial revemue streams through sponsorships, advertisimg, and prize pools.
Professtonal gamers have become celebrties. and the mdustry has created numerous jobs m
areas like event management, broadcasting, and content creation. The rise of e-sports has also
influenced mamstream culture, with gammg-telated content permeating movies, nusic, and
fashion. However, challenges remain, mchuding concems about the potential for addiction, the
need for better regulation, and the mportance of promoting melusivity withm the gaming
commuunity. As e-sports continues to evolve, 1ts soctal and economic mpact will likely expand,

further blurring the lines between traditional sports and digital enfertamment.

Sub questions

Question Number : 141 Question Id : 3350524351 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s a significant social impact ot e-sports?

Options :
1. %



Decreased online community engagement.

Fostering a vibrant online community.

2. ¥

Reduced entertainment variety:.

Isolation of gamers.

Question Number : 142 Question Id : 3350524352 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

How has e-sports impacted the economy?
Options:

Reduced revenue streams.

1. %
Generated substantial revenue.
2. ¥
Decreased job creation.
3. %
Limited sponsorship opportunities.
4, %

Question Number : 143 Question Id : 3350524353 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s a challenge facing the e-sports industry?
Options:

Limited audience size.

1. %
Potential for addiction.
2.%
Decreased mterest in tournaments.
3. %
Reduced professional gaming careers.
4, %

Question Number : 144 Question Id : 3350524354 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

How has e-sports influenced mainstream culture?
Options :

By isolating gaming communities.

1. %

By permeating movies and music.
2. ¥

By decreasing interest i technology.
3. %



By limiting fashion trends.

Question Number : 145 Question Id : 3350524355 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s a potential future trend for e-sports?

Options :

Decreased popularity.

1. %

Expanded social and economic impact.
2. ¢

Increased isolation of gamers.
3. %

Reduced online engagement.
4, %

Mathematical Ability

Section Id : 33505263
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 55
Number of Questions to be attempted : 55
Section Marks : 55
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 335052294

Question Shuffling Allowed : Yes



Question Number : 146 Question Id : 3350524356 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A train can travel 50 percent faster than a Car. Both start from point A at the same
time and reach point B, 75 kilometers away from A at the same time. On the way,

however, the train lost about 12.5 minutes while stopping at the stations. Speed of

the Car 1s

2§ 528 §o Benod 50 PSo JKom Hosrdoth. & Bodh awraren
A Do) fod 20Hend8 75 85 Dok Erdod’ Ko B Dok 2.3
H50H0S" Borow. SrPT0E508 Benwod 305 VA Hss ke
S0 125 ASnaren ©ONINI. 5% K Joe?

Options :
100 kmph
Koo 100 &ndon

110 kmph
Ko 110 &ndon

120 kmph

Ko 120 &ndon
3.9

130 kmph

Ko 130 8ndon

Question Number : 147 Question Id : 3350524357 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Arithmetical Ability ~ ©90¥Ke3e 850

A and B travel same distance with 60 knv/hr and 90 knv/hr respectively. If A takes 9 hrs
to cover the distance, then the time taken by B 15 ---------- hrs.

A0 BSsm fots 60 &ndn 0k 90 & & o drdin (PotrdiPon.
& drdin (Bobrdoddd A8 9 oben 543 B & 57 Siohio foen,

Options :
12 hrs

|« 12 Hoteo

10 hrs

10 HKoéen
2. %

9 hrs

9 Hoboen

3. %

6 hrs

6 Hoéoen
4.

Question Number : 148 Question Id : 3350524358 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Arithmetical Ability ~ @0¥feded Rr850

A person A can complete a work in 12 minutes. The persons B and C are respectively
. 1 ;5 ,
25% and 33 . % more efficient than A. If all the three work together, the number of

minutes they take to complete the work 1s
o8 500 Aed ¥ 12 Nnkiood® 8 oot B b C o Sher AoB

S 25% $60% 33%% $0B0d Sigossurr dobiivt. & Surhth Sob
5983 509 00 Tehmd P SHFT Ddwire oy .

Options :
29 minutes

29 Doaren

1. %

24 mnmutes

24 Qoaren
2. %

7 5, S
— minutes
23

72
— Jwaren
23 s

g9 .
— minutes
32

89

— QDabaren
32”2[0

Question Number : 149 Question Id : 3350524359 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Arithmetical Ability ~ ©0¥Hede A8 g0

A, B, and C mvest in a ratio of 2:3:5. After one year, C withdraws his amount. If the
total profit after 2 years 1s 31.00.000, then the share of B 1s:

A B 58d C E:éaaueatsw A8 2: 8: 5. o8 o Sthard € &8 Sl
45R0500HE R, Totd Hodiny 8trd Fndin el Srn 1,00,000/- ooNd
B cﬂwga TEP aod?

Options :
X30.000

40,000

45,000
4. %

Question Number : 150 Question Id : 3350524360 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ @0¥He3eb r8 50

Ifx =3+ 22, then the value of (\/E - i_) 18]

..,v.' X

x=3+2\2 vond (\E—%) @¥) Deosd
VX

Options :

1

2.



Question Number : 151 Question Id : 3350524361 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ @o¥Hede P50

A trader allows two successive discounts of 20% and 10% on an 1tem marked 3500.
Then the selling price is:

28 338 500/- Eriraney Qe TR K ot S&m 20% 568 10% $hod 53
© $5% e 86 .
Options :
% 340

Question Number : 152 Question Id : 3350524362 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ ©0¥Ked& eeddg0

It is being given that (2% + 1) is completely divisible by a whole number, “w”. Which
of the following numbers 1s completely divisible by this number “w” ?

(2% +1) o Sogg “W” & Sesiond T Phoutodhod. Bob Sidkms
ﬁos,:g@é‘s o Sogp “W” & Andin rhodathod.

Options :

(2% £ 1)

(2" —1)

(7 x 2%3)
3, %

(Z° +1)

4. &

Question Number : 153 Question Id : 3350524363 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability  ©0¥Ked& P850

The ratio of two numbers 1s 5:8. If 40% of the sum 1s 104, find the numbers,
ool ?302135&) KJ:'%}@ 5:8 © ﬁo:pagen Emééa:é‘s 40 Ew cﬁ:oéa_ Dend 104 vond ©
;603)5@.;;6: RV W



Options :

30. 48
1. %

40, 64
2. %

50. 80
3. %

100. 160
4. &

Question Number : 154 Question Id : 3350524364 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ ©0¥Hele g0

If twice the square of a number 1s 43 more than 13 times of 1t, then what 1s the cube of
that number?

¥ Koy Guut) Toh By $8 © Sogg 18 By Deuif ol 45 ASP 4¥)H ©owd
© Jogp Q) e deosd

Options :

216

729



)
e
)

Question Number : 155 Question Id : 3350524365 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ @0¥Hede e g0

Ram 15 6 years older than Sita and Sita 1s § years older than Rahul. After § years, if Ram
will be twice as old as Rahul, then 4 years ago. Sita’s age was?

08 %08 i 6 Hosdiner Y Hiba TG Kol b8 8 Hosdiiner 26,
8 Sosdine S8 T Gn¥) S Tié & Both By wavd 4 Sosdbime
Bdsm B Sy

Options :
16
14

12

10

Question Number : 156 Question Id : 3350524366 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Arithmetical Ability ~ ©@0¥Ked& ¥ g0
The L.C.M. of two prime numbers is 1271. Then what 1s the sum of those primes?
G0t [(EP% Sogge Go) 3.1 1271 vond © RS Rogpe @n¥) g Jod?

Options :
54

1. %

2
78

50

Question Number : 157 Question Id : 3350524367 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ @o¥Kede Rrdhd 0

Ifx*y:%Jri forall x,y € R —{0}, then (5% 2) (3 +5) =?

r,y €R—{0) Sbato x+y ==+ waud (5+2)+(3+5)=__

Options :
185
64

1. %

2. ¥



185

56
170
39
3. %
145
4, % 82

Question Number : 158 Question Id : 3350524368 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ ©o¥Kede P80

. e e ab+bctca
Suppose a, b, ¢ are positive real numbers such that 2 = 3° = 67°. Then 3 =1
aoc
: : = abtbctca |
a,b, ¢ & G Rogge DBk 20 =30 = 67¢ o > =
aoc
Options:
0
1.9
1
2. %
6
3. %
3
4, %

Question Number : 159 Question Id : 3350524369 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ ©@0¥Ke3& S50

4 a
If ,Hi/ 4 44 = 2b, where%is i the reduced form, then a + b =7
o a .
VA VAR =20 s © o oot boio swdath=

Options:

213

Question Number : 160 Question Id : 3350524370 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Arithmetical Ability ~ @0¥KeJe Rrsbddg0

A pipe can fill a tank m 5 hours. Due to a leak m bottom, 1t 15 filled m 10 hours. If the
tank 15 full, then the time (i hours) that the leak takes to empty that tank 1s?

o8 5098 0 ©obd Qostrhl 5 flowen Siockia $tk08. bod wibibrptiind’
Bosiin S8 e 0 10 obes oo, Hob Dot SNAPD © BoFam e
Sod b ofhnd SE Shetke _ flobe,

Options :

9

14

Question Number : 161 Question Id : 3350524371 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ @0¥Hele Rrahd 0

A mother’s age 15 3 times the age of her son. After 6 years, if the sum of their ages 1s
60. then the present age of son 1§ ---=--yis.

30 S05) BEPR Sohn Smto By, 6 Sosdbie s SPFe Sy
Ao 60 oondE (518 BPR S0 Sosdyssue.

Options :
1. %



10

11
2. %

12
3.¢

13
4, =

Question Number : 162 Question Id : 3350524372 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability  @0¥Ke3eb Rredd g0

If a = 5 — V3. then the value of a® + 2a V3 + 8 is:
1 =5 -3 voss a2+2a\/§+8cﬁw§a§}@s§ .

Options:

10
1.+

12
2. %

15
3. %

18
4. ®

Question Number : 163 Question Id : 3350524373 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ @0¥Keded Aredd 50

(256)"46 x (256) =

Options :
16

256.25

64

Question Number : 164 Question Id : 3350524374 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability  @o¥Hede 50

1- {1+ (2111 =2

Options :



o

1
2

3.¢
2

4. %

Question Number : 165 Question Id : 3350524375 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ @0¥iede AP0 0

‘B’ got 20% marks less than ‘A’. What % of marks did ‘A’ get more than ‘B’?
A %08 B & 20 ®8s» Srtes SEIm SN, B €08 A % wddom SN Sty

P dod?

Options:

10%
1. %

15%
2. %

20%
3. %

25%

4.+



Question Number : 166 Question Id : 3350524376 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ @0¥ede 850

A cylinder and a sphere have the same radius. The height of the cylinder 15 three times
its radrus. Then the ratio of the volume of the cylinder to the volume of the sphere 1s:

o8 r;,;;‘m LBk Fiednod o8 méﬁfgém E0R &), éa;:‘aé:a Twg) ) T
TS Sirkibky eaudE drsi QoY) fnlbiriin Hbd R g
ReNlirTe 998

Options :

Question Number : 167 Question Id : 3350524377 Question Type : MCQ Option Shuffling : Yes
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Arithmetical Ability ~ ©@0¥Hed& A8 50

The outer and nner radit of a hollow sphere are 2cm and 1em respectively then the
- 3
volume of the sphere 1§ ------- o’

n8 Sty Q) iy S6c ol FiRne SR 2 Jondn Hod
2ondn oawss St Gy Pustsnsn  Doud

Options :
88
3
1.+
77
i
2. %
66
3
3. %
55
4, ®
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Arithmetical Ability ~ @o¥Hede radso

IfA=x%of yand B = y% of x. then which of the following 1 true?
Adud y & x w8 S0 B Owd x & y pEn sk God TS 06

R’

Options :

A>B
1. %

B> A
2. %

A=B
3.¢

Ifx>ythen A>B

X >ywoona A>B
4, %

Question Number : 169 Question Id : 3350524379 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability  @o¥He3ed e 50

- o T

e = e ()

13-y11 V13+/11 X
\“I,_ — "I,_: X —.y oowds (ﬁ) =0




2. %

24
3. %

1
4.9

Question Number : 170 Question Id : 3350524380 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
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Arithmetical Ability ~ @0¥Kedeb Arad 50

12 1 . . .
= and e = 5 then their descending order 1s?

=
[
L=l
=
I
= |~
=
I
=1 ] w2
o
[

az%,bz%,cz%,dz; ﬁﬁme:—@mﬁabfde o e8P oo
Options :
d,b,e, a,c

1.¢

¢.da.e.b.d
e,d,c,b,a

a, b c.de
4. %



Question Number : 171 Question Id : 3350524381 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ ©0¥He3e 850

In an exammation, 85 % of the students passed m English, 80 % passed i
Mathematics and 75 % passed i both English and Mathematics. If 50 students fail in
both the subjects. then the total number of students who appear m the exam s:

28 S686° 85 i K00 opely wolfi$né*, 80 P $08 opiery Bdsns™
000t 75 P8 Hob BododE*r abtheast. 50 H0d My HAdL Hook
eolf $b508* Dwo wand Bike SBEG et vand Ao oz

Options :

500

1.4

400
600
300

Question Number : 172 Question Id : 3350524382 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ @o¥Hede Arads0

The perimeter of the parallelogram PQRS with sides 12 cm and 7 em 15 ----cm.
o SEPOY Sy G dheren 12 Rondn 06 T Jonain eondE R

bipfos 2ondi



Options :

28

1. %
38

2.
48

3. %
58

4. %

Question Number : 173 Question Id : 3350524383 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ ©0¥Kede Rrdd 50

The number of distinet prime factors in the product (30)7 x (22)° x (34)™ is:
(30)" x (22)° x (34) Gw¥ @%{mé‘s &%) O%) Herl serosing oy

Options:

=
iy

'.__)]



Question Number : 174 Question Id : 3350524384 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability — @0&KeS¢S Rread g0

The value of x i the following expression 1s:
Bob Frods ¥srdo 68 x Dw

22x+1| 4_,1:—2
( 3 ): 1024

8

Options :

4

'._)'.
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Arithmetical Ability ~ @0¥KeJ& 80

A shopkeeper cheats in weight by 10% and also makes a profit of 20% on cost price.
Then the total profit percentage made 1s.

o8 DTnmhl S99 oW 10588 Era 30 $6ak R 55 2038 ergiln
oBSS, vl é?ﬁg N PEFERD 2od?

Options:

2.

40%

Question Number : 176 Question Id : 3350524386 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ @o¥Hede redd g0

The last digit of the number 373% is:
3737 Boges® o 056 o3 .
Options :

4

2. %



Question Number : 177 Question Id : 3350524387 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ ©0¥tieded e 0

In a cricket match the batsman Varun made 110 runs which includes 3 boundaries and 8
sixes. Then the percent of runs Varun scored by running between the wickets 15 --------
approximately:
o8 (835 $mI6° S48 0% BT 110 Soiber Fabm wohé® 3 Fouben LBk 8
SEw T2, v J88 i SoTdr SGE ThE Shibe Pk Iedin Sbibed
ooy

Options :

35

40

45

3.¢¥



Question Number : 178 Question Id : 3350524388 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ ©90¥He3& Rr8 50

Three numbers are 1 the ratio of 3: 4 : 5 and their L.C.M. 15 2400. Their HCF. 1s:
Srth Sogre A8 31415 Hbaky TR §P.05 2400 wond U KPP

Options :

40

1.4

80

120

200
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Arithmetical Ability ~ @0¥Kede Arads0

d nd
s i 1 .
In an office (5) of the employees are women, (5) of the women are married and

tl

1\ . . 3\ . , .
(3) of the married women have children. If (1) of the men 1 the office are married

e . . , . .
and (5) of the married men have children. Then the part of the employees in the office

without children is:

o8 St aBlfiod -3 Sot 500 SiPe efyon, o =3 P
APP00d Serten Dockn %é i agen fOAS Arrdon. © @@5@&:@3@5 %é
e JhHen darRsnond wbdn %eyﬁa’m QTFoon, 2gm HOAY H%hDe ©ona
8 ?Wg@dﬁmés Soe B9 65521;{13@ P

Options :
3
18
1. %
5
18
2. %
¥
18
3. %
i |
18
4.

Question Number : 180 Question Id : 3350524390 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ ©0¥Kedd rdg0

A rectangle has dimensions 15 X 20 em?. Its width is decreased by 5% while ifs length
18 mereased 1n such a way that its area remamed unchanged. Then percentage of
mcrease 1n ifs length 1s ?

. = 2 st o
o8 &g S0 @og) Sodw 15 X 20 2o, 9 S}ggéwée ) Bhor 9
Hend® 5 8 1R dod P PLH Dowd?

Options :
. 5
19
1.4
. 6
19
2. %
. Vi
19
3. %
5 8
19
4, ®
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Algebraic and Geometrical Ability ~ 2tfe8 SO0k Tarriedes Arvdso

A tree breaks due to a storm and the broken part bends so that the top of the tree touches
the ground making an angle 30° with 1t. The distance between the foot of the tree to the
pont where the top touches the ground 1s § meters then the height of the tree 1s?

»8 3y S Tmom D0RNH B0k FOAY 3y Derlin Jo6® 30° Frasng ionst.
By Gty Futfon (Rsw) H0ain ey Joi 88 Dothide St drbin 8 hit
eoud 3t @) 2% do?

Options :
8v3 meters
8V3 Soetsy
1. ¢
10 meters
10 S
2. %
5v2 meters
5vV2 oty
3, %
2 meters
2 oo
4, %
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Algebraic and Geometrical Ability  22{eSe 80K Dartieded A0

tanf-2 cos@ _9

3 sinf+secd h

Ifsind = 53 and § < 90° then

. 3 -
Sinf == $ba 0 < 90° sowd 20
g 3 sinf+secd
Options :
17
61
1.9
61
2. %
61
B
3. %
i
4, %
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Algebraic and Geometrical Ability ~ £)23tieded 8080 Sariiedd arabdso

; s : T
| -2sinx, if x < =g
Let a be a real number and f(x) = ;

: M s
l+a5111x,1f—5-:, <>

If f(x) 1s continuous, then the value of a 1s equal to:

: : T
-2sinx, if x < =5

1 36 T Sogp H6k Lﬁﬁadﬁ:éw flz)= . e
l+a5111x,ff—5f: X<

f(x) 636 0293 Ehabo w3 a § Sirsim Jo0d

T R |

Options :
0
1. %
—i
2.
3
3. %
2
4, =

Question Number : 184 Question Id : 3350524394 Question Type : MCQ Option Shuffling : Yes
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Algebraic and Geometrical Ability ~ 2)2Kede )80k Jarticdd Aradso

The equation of a line perpendicular to 3x — 4y = 7 and passing through (2, 5) 1s:
(2,5) Qothsh thore & 3x — 4y = 78 wonsurr dofb 8¢y Sdo¥smin

Options:

4y + 3x = 23
1. %

3y +4x = 23
2.9

2+ by==0
3. %

2x + 5y = 29
4, %

Question Number : 185 Question Id : 3350524395 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability ~ 2)231fe8eS S80Sy Dariicde g0

it ail
IS;

The value of lim
X—0m 3x347

b o A

lim dess Jo8?
x-00 3x347
Options:

1



2.

=5/7
3, %

57
4, %

Question Number : 186 Question Id : 3350524396 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability ~ £)23tieded 1805 Seriiedd Areydso

S| 1 2 3
IfBA—BZlO 1 -2|andAl=]0 1 —l} then B=?
-1 1 4 00 1

1 2 1 I 2 1
3A-B=|0 1 -2[&8aw Al={0 1 -1|ewd B=?
-1 1 4 00 1
Options:
2 —8 -8
[0 1 —1‘
0O -1 1
1. %
2 —8 -8
[{] 2 —1‘
0 —1 2
2. %
2 —8 -8
IU 2 5 ]
1 -1 -1



4 =8 =B
0 1 £
T =1

Question Number : 187 Question Id : 3350524397 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

4. %

Correct Marks : 1 Wrong Marks : 0

The triangle whose vertices are (3, 7), (2. 7) and (5, 2) 15 a triangle

5,7, (2,7 580k (5,2 Dohgos V800008 Bz & (§0d S
2 850 wonda?

Options :

Equilateral

QDo 2I"TV (8320220

Isosceles

DDA S23va0 320230

Right angle

©o2F0 1820220



Scalene

D237V (320230

Question Number : 188 Question Id : 3350524398 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability  D)airieed SO ok Tarrieded ardydg0

150 = 300 they EE )

(sin26+cos?6)

0=30" wond (B8 [Sdho (68 -cos2)

(sin26+cos? )

fed =7

Options :
3-2vV3
9
1. %
3—-2V3
3
2.
2v/3
V3+—
D
3. %
3
5



Question Number : 189 Question Id : 3350524399 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability  2)3ie3e S0k Sariiedd Ardg0

The XNOR is the combination of
XNOR ©38 %0 o Sodrin.

Options:
XOR and NOT
XOR 5%8a%0 NOT
1.4
XOR and AND
XOR 5%8a50 AND
2. %
XOR and NAND
XOR 58c50 NAND
3. %
XOR and NOR
XOR 5:8c% NOR
4, ®
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Algebraic and Geometrical Ability )28 00k Sarncde g0

o 15 3
ol 17 7
2i 9 b

The value of the determinant IS:

50 15 3
M 17 17
W 9 6
Options :

-195

Sr(BE Q%) Ul ool
9

Question Number : 191 Question Id : 3350524401 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Statistical Ability #fe0¥ P80

The mean of four numbers 15 37. The mean of the smallest three of them 1s 34. If the
range of the data 1 15. What 1s the mean of the largest three?

Feth doge e (L) 37 Lok 048 et é&ﬁ’.& soge S 34,
dEodin @nd) Tl 15 oSS ﬁ@‘% St oo Wik el 20 8?

Options :
1. %



41

39

Question Number : 192 Question Id : 3350524402 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Statistical Ability e0¥ P850

If the mean and median are 28.33 and 28 respectively. Then the mode 15 -------.
sodg S0k SEdn duwde SHIm 25.33 S0k 28 LS sy

IV

Options:

28.5

28.66



Question Number : 193 Question Id : 3350524403 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Statistical Ability Ke0¥ P850

Second central moment (Variance) for the first n natural numbers:
B8 ‘1 Sber Sogge Toks Soich $rae @%8) __.
Options :

nn+1)
2

nn+1)(2n+1)

&)
2. %
(n?+1)
12
3. %
(1)
12
4. &
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Statistical Ability Ke>0¥ P850

The cumulative frequency table of marks in a test 1s given by
o8 H8E° Amythe drtye Ko Dy SQE (Cof skl

Marks (x) <10 <20 < 30 < 40 <50
Frequency (f) 5 12 26 37 50
Srden (x) < 10 < 20 < 30 < 40 <50
e eadeageo (D) 5 12 26 37 50

Then, the number of students scoring between 20 and 40 1s:
20 H0ak 40 &rtyw ©ossne® sy SR Ao Sogy?

Options :

¥2
1. %

25
2. ¢

26
3. %

37
4, ®
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Statistical Ability £70% AreNY 50

The median of the frequency distribution 1s:
8ob aé&m&é @“Eéaa’a-eaé; Depesd ;’3§§ G¥) Sprd dend

X ] 2 3 4

Frequency (f) | 2 4 l 3

Options :

1
1. %

2
2. ¥

3
3. %

A
4, %

Question Number : 196 Question Id : 3350524406 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Statistical Ability Ke0¥ P850

A box contains 6 red balls and 4 blue balls. If two balls drawn at random, then the
probability that they are of the same colour 1s:

w8 26 6 26 Yoih wodher $00% 4 Noiin Yorh noden Ko, dr)YKom ot
2ohen dob¥ FuSS ©9 Botd o8 Yorb woder PHE o Sogripd

Options :



15
1.v
9
17
2. %
3
5
3. %
4
15
4, %

Question Number : 197 Question Id : 3350524407 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Statistical Ability fie0¥ P850

If the mean of a frequency distribution 1s 100 and the coefficient of variation 1s 45%,
then what 15 the value of the variance?

?J"Eési’.g)aaé QP @nE) dftn dend 100 Hdak TR AoPosin 45 T Vona
Y D@e‘? ALY

Options :

2025
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Correct Marks : 1 Wrong Marks : 0

Statistical Ability Ke0¥ APY50

When two dice are thrown, the probability of getting a prime number on one die and

composite number on the other die is:
Both dfen FPoRdpd (DNBRPD) wl el o3 Fo Rogy B BFs D8R

Noding Sogy HKErRE fo dogris

Options
1/6
1. %
1/3
2. ¢
1/2
3. %
1/4
4, ®
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Statistical Ability t{e08 Ar8 50

The probability that m 10 throws of a fair die, a score which 15 a multiple of 3 15
obtamed m 8 of the throws 1s ...

w8 DIMEE ROKD 10 &) FR0ORE wothe® 8 PG 3 Gwd) it TERE o

Sogrils
Options:

160

310
1. ®

140

310
2. %

180

310
3.¢

100
4w 31[1
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Statistical Ability #egr0¥ 850

Median of the following discrete data is:

808 Rriodaldt IBE STodin EnE) Mgnd dedt

1,2,2,3,3,3,4,44,4,55,5,5,5,..,10,10,10,10,10, 10,10, 10, 10, 10.

Options:








